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Math the following :
a) C. V.Raman
b) George Ohm

¢) Hans Oersted
d) Michael Faraday

@ () (o)
1) (1) @v) (i)
2) (1) (v) (1)
3) (@) (v) (1)
4) () (v) (@v)
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ii)-fagge AR

iii) Tepramrl faifepur

1v) ﬁ@ﬁ YRT

(d)
(1)
(i)
(1)
(i)

1) Magnetism due to electric current
11) Electric Motor
111) Scattering of light
1v) Resistance in an electric circuit
v) Electric current

(d)

(1)

(i)

(1)

(ii)

HERTE IS ARRY WaT gaoRien At : 9= fasm/ aR



Q)

2)

3)

3)

8)

For Private Circulation Only
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31) favaieR I) 3FdfaR
¥) faegvar II) @ree
F) JUR I1I) =& (mho)
3) Pedc IV) o9
dJ 9 P 3
9 I on m v
)V m oI I
3) I 1 v 1
w) I T I v
Match the following pairs :
'A! 'Bl
a) Potential difference I) Ampere
b) Current II) Volt
c) Charge IIT) Mho
d) Conductance IV) Coulomb
a b ¢ d
1) 1 on m v
2) IV I I 1
3)) o I Iv. I
4) M O I v

PoAlee] SeldgRcicaadl MR DIUATE &F a1l dheledl axalie ey fdar ufceor g
........ 3R,

q) AT Yeobred] UMHRTIE auielt &I JHmud

Q) It JRIAT quiHT U YHuNd

3) IS SR i SRd JTHToTe

8) YobHeicT HIETHTT FRpUTR 3fdeig gl

According to Coulomb’s law of electrostatics the magnitude of force of attraction or repulsion
between any two charged bodiesis ..........

1) directly proportional to the square of product of their charges

2) directly proportional to the square of distance between them

3) inversely proportional to the square of distance between them

4) not dependent on the nature of medium between the charges

A ETTeT ST graTed fmrd

afgel @l ... oY feom gefaa

TR AT oo ot feem gofad.

ST . ot feom gafaa.

3TgehH -

9) 9, JIDbIT &, UaTg R) Jehr &, forq v, 9
3) gEhrT &, URT SUATH, 9 8) I, JahrT &, I
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In Fleming’s Left Hand Rule

First finger indicates direction of ..........
Second finger indicates direction of ...........
Thumb indicates direction of ...........
respectively -

1) Force, magnetic field, current

3) Magnetic field, induced emf, force

Advantage of neutral earthing is
1) Safety of personal
3) Elimination of arcing ground
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2) Magnetic field, current, force
4) Current, magnetic field, force

Q) Jeat QY Harg !
8) TRIeTh PR e

2) Reduction of earth fault current
4) None of the above

gedlell Teg S &HaT Faffod Sauart Hed @Ra ST ... URET SR&T .

9) A UATE
3) BRR STEIed

8) RiecHd Gioht

An earth mat helps in limiting the ground potential and offers protection against the .......... .

1) faulty current
3) fire jazards

2) heat produced by equipment
4) cooling of the system

R) FRR fagrd, faega aRuy
feeld aRuIdies fadedr :
a) JYGROTN THR SHeuiie STSdTd. b) IuHROTEN FHR SHeuild Siedrd.
¢) FMSUTIURT STaea! 3R d) g€ YU Sae! IR,
qgift S :
q) (a) 3T (b) R) (b) 31T (c) 3) (b) 37T (d) 8) (a) 37T (d)
The fuse used in electric circuits is :
a) Placed in series with the device. b) Placed in parallel with the device.
¢) Made of an alloy. d) Made of pure metal.
Answer Options :
1) (a) and (c) 2) (b) and (c) 3) (b) and (d) 4) (a) and (d)
AleAd! fagaaert et i sRd ?
9) el g fagfavarg fmior oy R) eI fegavarg Rfqur
3) bl & T ol g) i Hotl Rl

What is the role of a battery for a motor ?
1) To generate a current by rotating a loop
3) To generate a magnetic field

2) To supply current to the loop
4) To supply mechanical energy
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UPS dct At e ............ qeY AiSlel! S

9) de Il Q) dcd 3) 3ffIeR ¥) SffIeR-d™T
Capacity of UPS battery cell is measured in .............

1) Watt hours 2) Watts 3) Amperes 4) Ampere-hour

UPS <8<l SR dRUITATS! Wietioldehl hlufdT aroRell ST, Siegl 3iFeisd UPS <7 STsdid
UPS g=gced) Q ffor gt ?

9) DIAC ?) TRIAC 3) GTO 8)SCR

Which of the following is used to bypass the UPS inverter, only when a fault develops in the UPS

inverter in case of an online UPS ?
1) DIAC 2) TRIAC 3)GTO 4) SCR

q) Tl ol wuiaRor Q) WY ERiTed wuidRor

3) eRfle O Sl wuiaR ¥) SR O TiHed  myicRr
Main function of inverter in UPS systemis ........

1) ac to ac conversion 2) ac to dc conversion

3) dc to dc conversion 4) dc to ac conversion

e BRe (AC) TeeM JdHEY Wielletddh! P AR el ST ?

q) T fhar ferep Skt dept

Q) 3391 TTREGR IMMUHIAT SH3T USH Pedl ST

3) Jorb AT TS

8) g HoTTet!

Which of the following is considered in an alternating current (AC) station service ?
1) One or more battery banks

2) Emergency backup provided by a diesel generator

3) Flashing of the exciter field
4) Lubrication systems

DC tastt AC JRIGIRR FARRIE fedT Ieauarl BRIeT . ............. 3.

q) PRIGHIT FUROT R) @Eid °e

3) defgs ¥) TR S Frier

The advantage of operating fluorescent lamp on DC supply instead of an ACiis .............
1) Improvement in efficiency 2) Reduction in cost

3) Longer life 4) Elimination of stroboscopic effect
DC-DC @egedl @R g 31ed ...

9) SRA STYC ElecsT SR 3TTSTYC Rleco e HUTART BRUIRITS!

R) WR 3MOT e e g SRiT 3Seye @lecsrd A dRUIRITS!
3) S (9) nfor (R)

Q) ITUBY ATEN
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The functions of DC-DC converters are ....
1) To convert a dc input voltage into dc output voltage
2) To regulate the dc output voltage against the load and line variation

3) Both (1) and (2)

4) None of these

DC Fcadned areel fagd Sdmn Sfcid iR ... 3Rl

q) T 3N Q) L AW HAfeTeha

3) 3Fd 3 ¥) T Y FHIAR STsclel 3med

In DC network ideal current source has internal resistance of .............

1) Zero ohm 2) Zero ohm connected in series

3) Infinite ohm 4) Infinite ohm connected in parallel

SR o9 IR ORI SRIAMT, St SN O SR ... TV Siiselel! &,

q) IT A B R) TSR JRAdI Al

3) TSIAR YRdal Hld 8) Fd Yxdar H=ld

Floating in DC bus bars, the battery remains connected to the DC bus bars as a .....
1) direct supply sources 2) standby supply source

3) fluctuated supply source 4) constant supply source

SRt AT JRIITAS] UleR RIFeHAEd Il YR desl afuRel! S ATal 2

q) olis-URIS ¥ (ST=geR) R) ciie-TRYs dedi (wie)

3) 3 A (IREw) %) Ni-Cd et

Which type of battery is NOT used in a power system for backup of the DC supply ?
1) Lead-acid battery (tubular) 2) Lead-acid battery (plaint)

3) Dry cell (circular) 4) Ni-Cd battery

Tefiedehl PIUI gleR T SRfT Jedt R QRaaT aToRd gl ?

9) T i Ryfert Bri R) Ret anifor fefdr Afhe

3) QRAaT fIoROT HurTett Q) IMMIhIA A

Which of the following does NOT use the DC battery system supply in a power station ?
1) Control and signalling work 2) Relays and t he tripping circuit

3) Supply distribution system 4) Emergency motors

QefleTich! PV Pregevd AN TR 318 o Wb YR Yeplfcep M 3Mg o IS FRwuTciie]
RFTera e HUART HU BUR a2

9) D/A ) A/D 3) DAC 8) DtoA

Which of the following is the correct representation of a converter that is a kind of integrated

circuit which converts singals from continous form into discrete form directly ?
1)D/A 2)A/D 3)DAC 4)DtoA
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DC Acasmed areel fagd |Aidman Sidd IfidR ... 3.

q) T 3MEH R) L 3AgH, THaR Sirsuft

3) S 3lgH ¥) A 3igd, JHiR Sreut

In DC network ideal current source has internal resistance of .............

1) Zero ohm 2) Zero ohm connected in series

3) Infinite ohm 4) Infinite ohm connected in parallel
ot AefiFmed o TR SRft HleR aToRe! S ?

9) St Hrfeten AR ?) SNt HURSs AR
3) SRt 9l Hiex ¥) SR fomfeRieT HuTss Hiex
Which type of dc motor is used in lathe machine ?
1) dc series motor 2) dc compound motor
3) dc shunt motor 4) dc differential compound motor
STt STREHE FRICER ... TEUT B Ral.
9) AhfThel gegex ) RIsp T e
3) Hafad AFCHRR g) ITIhT TR
In a DC generator, commutator serve as a .............
1) Mechanical inverter 2) Synchronous condenser
3) Mechanical rectifier 4) None of these
3) fagra favaraR - faega ot
urer Riffed Acaaximefiar fRafir aiieeR eRlecsii™ ... T RN AN
9) Ldp.u )Y T 3.3 pw 3) 90 p.u. ) 0 p.u.
The switching over voltages in power system networks are of the order of ...........
1) Ldp.u. 2)2.5t03.3 p.u. 3) 10p.u. 4)20 p.u.
20 uF emaear duRiesmtfier favaier g , 9 Adgd, 0 Elecas 80 Rlectdd ThRiH dTafdedr

IR IRC ... 3R,
9) 9mA ) 8.CmA 3) 9”mA 8) R.&mA
Potential difference across a capacitor of capacitance of 20 UF is increased uniformly from O te

240 V in 1 second. The charging current will be ...........
1) 12mA 2)4.8mA 3) 12mA 4)9.6mA

FTYRUMUI, Glofiol BlocoTale! STEI3R FeRC I U=y et SITa:

9) R0 P! ?) 932 Pt 3) && el 8) 33 dedl
Generally, an indoor substation is preferred for voltages up to :
1) 220 KV 2) 132 KV 3) 66 KV 4)33 KV
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& kV ﬁf&ﬂ SIS CSK”C“‘I‘{'HC';\I ........... D] dUReT SIdid.

q) Jecs R) T - YBRAT 3) de1 HReled 8) TH-Tel Ul
For operating voltages beyond 66 kV ........... cables are used.

1) Belted 2) H-type 3) Oil filled 4)S - L type

Pigerdl seacd JH 312, Pigeamed A TT JATE 3Rl IoHM oI 3A Td ATeaudRITe! (Sgemed)
fepet PRI PRI M1 ?

9) 9 I R) 8 e 3) R S 8) Y St

The inductance of a coil is 2H. The coil is carrying a current of 2A. How much work (in Joule) is

to be done to increase the current value to 3A ?
1) 1Joule 2) 4 Joules 3) 9 Joules 4) 5 Joules

HH! @lecsl TUTEATS! Fdid Pl @ides TREUZAT ... 3z

9 AT Q) Jise Afbe SR 3) R ¥) TSR Wfhe s
The least expensive protection for low voltage system is .......
1) isolator 2) oil circuit breaker  3) fuse 4) air circuit breaker

faaRor ez fesmgdl 9= ey a1me:

q) |l R) Rlecomdler e

3) Tgied UfRY ) =T ToTTett

The main criterion for the design of the distribution feeder is :

1) the material 2) the voltage drops

3) the insulation resistance 4) the distribution system
Rlecs! [aRauu qIdedl ... IeR 3facigd 3.

q) e afieTaT 37T Tepur g fRgd faght

Q) Wfde ufcarer S7fdr Tgur gMife clecs fagdt

3) UlaR UsrcR AU Jfche Tfcrarer

8) T FrEEr AT

The voltage distortion level depends on .............

1) the circuit impedances and the overall harmonic current distortion
2) the circuit impedances and the overall harmonic voltage distortion
3) power factor and the circuit impedances

4) none of the above

T Sglecs] UIADNTG!, SIcgl STeiiel HeReeTd! STSI3R avceelt IemT dhetl I, degl el &4
........... 3RAeT SfUr reiet QY FIGH ... 3R,

9) Y, Y ) T, IEaES 3) S, 9 Q) I, POl

For same voltage level, when outdoor substation is compared with indoor substation, the cost
will be ........... and fault diagnosis will be .........

1) low, easier 2) low, difficult 3) high, easier 4) high, difficult
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AT FRRRIBITIR wicieRial el Feafd aF welcamdlel T FRe g STaceiass R SRl
g RR® ... Y RCIEICIAN I

q) dHEFR R) SRifded fRRID
3) duURfe~T Q) heded

The potential difference between two plates is related to the charge on the plates by aproportionality
constant. This constant is known as .........

1) conductor 2) dielectric constant

3) capacitance 4) conductance

Rlecs] SRARRRAL, TS ART ... I

9) 9T fordd A8 Q) I fIdd o8

3) 3MScyc HfcTen FHE 8) $IYc TfceTen T

In voltage amplifier, the load resistance should be .............

1) As large as possible 2) As small as possible

3) Equal to output impedance 4) Equal to input impedance

R R PiScigT i, HURICR Th /3T FaUd HH dRdl......... AT SSFCR TB /3T o

9) 3 |fdhe, Al Afhe Q) 9 Afdhe, i Hfdhe

3) 91¢ Afhe, e Afhe ¥) 39T Ffhe, MU= Afhe

Under steady state conditoin, capacitor acts as an/a........... and inductor as an/a.................
1) Open circuit, short-circut 2) Short-circuit, open circuit

3) Short-circuit, short-circuit 4) Open-circuit, open circuit

Stegl fdegd, MaTg ared] degl dheaesHed AW TT ...

9) ared Q) ged 3) PR 9GeT AR 8) ARIAUD! BraE! ATar
When the current increases, potential drop across the conductor ......
1) Increases 2) Decreases 3) No change 4) None of the above

Tt DIV TVl BT TElecsT Josul cglecs AT PHHI cglecs] Jedul cglecs] HIsi Hdell S ?
9) eafep IMaTST UIdesia I ) o5uT HfeRiY T}

3) IFABIHIE XM T 8) FABIRA! SRIifach oxe

Which of the following tests is conducted by measuring the high voltage winding voltage and the
low voltage winding voltage ?

1) Measurement of acoustic noise level 2) Winding resistance test

3) Transformation ratio test 4) Dielectric test of transformer
ferfeceg dleardl, @iecst WeleMdt CehaRl ... T no3 T Tl 3T,

q) wfcrfehar drop X sin, ?) ufidR drop X sind,

3) vfcrhR gd 8) wfifsar g9

For resistive load, the percentage of voltage regulation is equal to the percentage of .......
1) reactance drop X sing, 2) resistance drop X sin@,

3) resistance drop 4) reactance drop
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U 31eef op amp & MG ............ gefaa.

q) gl FRIFT adH T Ald R) lecs FRIGK e@lecst A

3) g FRIFT ada= | ¥) gau R @leest A

An ideal op amp represents the ideal .............

1) Voltage controlled current source 2) Voltage controlled voltage source
3) Current controlled current source 4) Current controlled voltage source

GTefledeh! DIl Tex YUMARATST PHId BHT Blocst TR oSl 3RTCR 3MaTh 3 ?

9) IUIRILD R) o Al

3) Resistance earthed ¥) Reactance earthed

Which of the following neutral system will require the lighting arrester of least voltage rating ?
1) Insulated 2) Solidly earthed

3) Resistance earthed 4) Reactance earthed

GTATAUDT DIV X BRE IFRTIST 3MeR G@leest (VETOS) Fmfor &% o ?

q) i fawIens IMaIehdn Q) Hics AH—THHId

3) T S v) feafdm siReE

Which of the following may generate Very Fast Transients Over Voltages (VFTOS) ?
1) Aesthetic requirements 2) Field non-uniformities

3) Prolonged arcing 4) Switching operation

Aifers ¥ee Ret (SSR) WS Wreflel fdum AT 3med & 3T 1d o <.

e 9 : IERIG: 3 T 32 @lee DC, AIGHT MITYE @lecst fhal 80 V, 90 amps AR I vaTg
RIFT FRUIRIST IRl ST, 1.

fagr 2 : SSR =T T=g TCHIUD! T ITee]— NI 3N, STFLY Teh fohdl SAfeIh Sh—X8 else—
SIS TS, fdhar LED UehTel i AT Ul Haed it HfRIfCeg Suaul 3R,

i SR :

q) I U™ T Smed R) TFg faum @it amea

3) fau 9 I 3me Snftr fAu= 2 o e 8) A 2 A< 3R 3nfor fau 9 sRIy amR
State whether the following statements for solid state relays (SSR) are true or false.

Statement 1 : Typically, 3 to 32 volts DC, can be used to control a large output voltage, or
current such as 240 V, 10 amps.

Statement 2 : One of the main components of SSR is an opto-isolator, which contains one or
more infra-red light-emitting diode, or LED light source, and a photo sensitive device within a
single case.

Answer options :

1) Both the statements are true 2) Both the statements are false

3) Statement 1 is true and statement 2 is false 4) Statement 2 is true and statement 1 is false

a=apEAeier EMF 'E,"” &1 90V =1 ........ TaTE 3B

9) WA Q) effr R RSIEC ¥) STieciel RAetel
Induced EMF 'E,' in a transformeris .......... flux by 90°.

1) leading 2)lagging 3) connected 4) non-connected

HERTE IS ARRY WaT gguRien |t : 9= fasm/ 20
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R9) IR FRe SH TCH! Fotell SR, SATID! AR] @lecs] V' 3RTeied] CURKiTel el Tehie ... FgUd.
9) A T TTh R) BR JHAH TP
3) @lecsl 99 AN ) GehII JeTE

21) Excitation current is made up of two components, of which the one in phase with the applied
voltage 'V'iscalled .............
1) current loss components 2) core loss component
3) voltage drop loss 4) magnetising current

R)  fetear Afbeaed V, o gea qie.

i W 1 - ¥ lul'? 2
—WWAWY MWW %

+

=
(Pt

~,
V.
7 <]

f_.

) V;=V+V,+V, )V,=V-V,-V, 3)V,;=V,+V,-V ¥)V,=V,-V,-V
22) Find the value of V in the given circuit.

i v 1 - ¥ 'ul'? g
—AWAWY AW %

+

¥y

f_.

HDV;=V+V, +V,  2)V,=V-V,-V, 3)V3=V,+V,-V 4 V,=V,-V,-V

=
Py

~,
-

¥) faeraeres -fagqa argdhan

9) 120 V 3foT 60 W 3R X dheledl Selfdem Seamyd dguiRT O JaTg ... 3TTe:

1)2A 2)72A 3)05A 4)15A
1)  The current flowing through an electric bulb rated 120 V, 60 W is :
1)2A 2)72A 3)0.5A 4)15A
) feciear AfbeAd ¢ W EREHYT aguRT fEf T8 ... 31T,
AWy Wiy
20 a0

== gz, O=

DAY A ) 9.5 A 3)8A ¥) 9% A
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In the given circuit the current flowing through the 8 W resistor is .............

AWIW———— Wi,

20 L Y]

Ew g, (pe

)25A ) 1.6A 3)4A 4) 16 A

ST qroaTE fRLd areend & ... forefl = gfy Hiex 3rRAd, SRy utoft 9 e UprATe! sgcie

a) 4 i b) R4 Y& SR c) ©Y T d) Yy e ST

AR IR :

) Wb (a) R) Wk (b) 3T () 3) Eh (¢) g) Weh (d)

Water with EC value ............... milli Siemens per metre is suitable for irrigation of most of the
crops on most of the soils.

a) up to 25 b) above 25 c)upto75 d) above 75

Answer Options :

1) Only (a) 2) Only (b) and (¢) 3) Only (¢) 4) Only (d)

Wl 3o fummie! v UM sRIsR 3med ?

a) fev1 g gatee . b) Iprse g ffica UABRIRT HRaHT 3R
¢) Fhrse faEd daed oTR. d) GBS b TSRS =T ATIReTT

gy SR ;

q) RIS T4 R) @h (a),(b),(c) 3) Wh (a),(b) g) wh (b),(c)

Which of the following statements are correct ?

a) Diamond is a non-conductor of electricity.

b) Graphite has a to dimensional sheet like structure.

c) Graphite conducts electricity.

d) Diamond is used for rock drilling.

Answer Option :

1) All of the above 2) Only (a),(b),(c) 3) Only (a),(b) 4) Only (b),(c)

IR A6, hedR fagavare Foariic! gy AlGT &1 3Rfdl ?

q) DR HHR TR GY A 3

R) PR ATHh WR QU SR SRIA!

3) PR AT UfTPR QU SR Il

) BRUI FrAiel ATER] fSE[dHe .

Why is the current initially very large when a motor is turned on ?
1) Because the back emf is very strong

2) Because the mechanical load is very heavy

3) Because the resistance of the coils is very high

4) Because there is initially no back emf
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arefaTgerd faed U GURUIRAS! QTd LGl SAISuaredt Ufshda ... URIE

9) Do Q) HIfth 3) eI 8) GUROT

The process of adding impurities to a semiconductor to modify its electrical properties is called:
1) doping 2) moping 3) valorisation 4) improvisation

AT RRIAMaTerT SITeIRI, A Sa” AIGAT MMfhT 3RAd...........

q) Afthe saxear e =™ Q) Afthe SH=AT IR

3) et Auepicr=aH ¥) |fhe sz AT

During the interruption of large current, a circuit breaker would be large arcing .........
1) between the terminals of the circuit breaker 2) outside of the circuit breaker
3) between the switching contacts 4) in the material of the circuit breaker

TS ARG A HRT ... 3TTE.

1) IS 3043 2) IS 3403 3) IS 3040 4) IS 4030
Indian Standard Code of Practice for earthing is .............

1) IS 3043 2) IS 3403 3) IS 3040 4) IS 4030

280 V RAGITR 30 W AT feRC~T STieelell 318, SR R 3ieH a1 fAgeRIY, 30 Mg Auhrll TR
Sirevfie Siieet sr/id, &R FufRa fagd vate qovear fiwie 85, IR IY R I 94 ... 3TTe.
q) 94 3MeH ?) 90 3EH 3) Y A 8) 30 3MgH

A resistance of 30 W is connected across a 240 V supply. If a resistance of R ohm is connected
in parallel with a 30 ohm resistor across the same supply, the current drawn becomes triple of
original one. The value of unknown resistance Ris.............

1) 15 ohm 2) 10 ohm 3) 5 ohm 4) 30 ohm

Yoo Q, Yooo Q M Yo Q A I WSRCRT Y4y Elec HTHEY HifeThd SiiSetel TTed. AT
ITEUIRT HaTg fohelt 3riet ?

9) 937 Q) 900 THU 3) 90 THU 8) 90 31

Three resistances of 500 , 5000 Q and 50 Q are connected in series across a 555 Volt mains.

What is the current flowing through them ?
1A 2) 100 mA 3) 10 mA 4)10A

NFPA 37for IEEE J9R 198 e~ RIGRA delel Jod P 3718 ?
9) 4.0 Q fobar = ) Y0 Qfbar wH  3) .0 Q fhar HH ¥) 34.0 QfhaT S

What is the recommended value of ground resistance according to the NFPA and the IEEE ?
1) 5.0 Q or higher 2) 5.0 Q or lower 3) 25.0 Q or lower 4) 35.0 Q or higher

990 3MEH Y IRACIAT UGV G CIhmed 33 V I9aiaR Wt el IRIT SUPRUT Pral
fICTemRT F3TTEd. Yoo JATEH YT IFRIVAT SYBRVIIGT Idard faegd URT 18 QUARITS! Tl G b
fepeil favaicR Ugh o_1d offlel ?

9) VLV Q) 844 V 3) 400 V 8) 40 V
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When a potential difference of 33 V is applied to a device whose resistance is 110 Q, some
current flows through it. If the same current is to be passed through a device whose resistance is
500 Q, then how much potential difference is to be applied?

1)726 V 2)455V 3) 1500 V 4) 150V

Uhrd UTIURLT Sdeiedl QF IRT A 3MTf0T B It &felt & ¢ 9 I7 TJHI0N M. Q! aRT TR gl
Silgelell 3MTed. &M dRMHleT faweiaR s 3V a2V 3R, SR Ry 3701 Ry 3FfPH A @ B dRrean
o sRchier R BB _

RA
1) /3 ) I/R 3)9/3 ) 1/%

Two wires A and B are made of same material and having their lengths in the ratio 6 : 1 are
connected in series. The P.D. across the wires are 3 V and 2 V respectively.

1 R
Find _RB_ , where R, and R are the radii of the 2 wires.
A

1) 1/4 2) 172 3) 1/3 4) 1/6

RAH IS &thod ( IR AL & ) Icied, 9 AT s ey diedrea dRe TRIUehdT p, 3T AT
9000 THT A=l AR TR p, 8T, R :

Dp,=p, 2)p,>p, 3)p,<p, 8) aRIcTh! Pratel el
Resistivity of 1 cm long copper wire is p, and 1000 cm long copper wire is p, having same cross
section area, Then :

Dp,=p, 2)p,>p, 3)p,<p, 4) None of the above

o, 3T o1, 3R TRRIY AT ol rietel. R, 30T R, & T feegfciTees TepeiR Hifercbel el Sitseiel
IRICIRT, Fded URRIY A0 01 ......
2) kO 8) il ATE

D)o, +a, 3o -o,

If two conductors of resistances R & R, with resistance temperature coefficients o, & o, are
joined together in series, then the equivalent resistance temperature coefficientis ......

Do, +o, ) Yy=m Oy 3)a, - o, 4) None of the above
hacerd! el AeedTd Tdl SIS URRIUSD ...

q) ged Q) ared 3) WA TR 8) IIUD! PG ATal
If length of cable increases, its insulation resistance .............

1) decreases 2) increases 3) remains same 4) none of the above

heerdl TG BT ... =T YHTOT BT il
q) faega o Q) ecTedl SIS et aTeraTeA
3) PeeTAT I el HHT gIoar ¥) I ATE
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The insulation resistance of the cable decreases with .........
1) Electric stress

2) The increase in length of the insulation of the cable

3) The decrease in length of the insulation of the cable

4) None of these

SiegT fela vaTg fR[d Sesen dRed fheeHed Sal degl fhamic T Scafid axal. 7 fagd
TATERAT ... gRUMTES 3.

) IiHH Q) gehig 3) NI D ¥) TRY

When an electric current passes through a tungsten filament of an electric bulb, the filament
emits light. This is due to the ...... effect of electric current.

1) Mechanical 2) Magnetic 3) Chemical 4) Heating

[AGTER A RIIa T dhetell Achl AT THIUNT IR ?
q) RreFRieprde Rigd urer af ?) faegeRieerclier fag ear o

3) feR[RIyse fdgd uRd T ) relieT favaioRmr aif
The power expended by a current in a resistance is proportional to
1) Square of the current in the resistance 2) Cube of the current in the resistance

3) Square root of the current in the resistance 4) Square of the potential difference across it

IR BT MRE ..o 7 BHI BTl ST .

9) TlaRoIdes TS TTeAaul IO T elaRk SxAeft STgor

Q) PISCRUISS IRR ST MUl MO T elek Saeft S

3) A (9) = ()

8) RIeTedl FTEE AT

The tower footing resistance may be reduced by .............

1) driving rods near the tower and connecting them to the tower base

2) burying counterpoise wires in the ground and connecting them to the tower base
3) both (1) and (2)

4) none of the above

SF M YD TYH RS SISV g TR FHIR SIevied VIdgd Semedr AN Siiss 3ReN,
WSS P U T MR ?

9) Srgl SeufiHed T TR (2RhT) T Bea.

Q) TR Sirevfiged AR Siieuft vem SiRd giaR (9=hY) & 2ise

3) R TEUiHe AR Sreul) Uem wHt uleR (kAT T B

®) 3rquf HTfRe.

Two identical resistance are connected in series first and then in parallel combination to a
source of em V.

Which of the following statements is correct?

1) Both the combinations consume the same power.

2) Series combination consumes more power than the parallel combination.

3) Series combination consumes less power than the parallel combination

4) Insufficient data.
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for[a RReamed IMRfage ffiha afd ST R 3R/, HRT

a) TTRE YTl Heor AfRISa 8% < .

b) CIRC YT PSAT Gavlieh ATGfddr.

c) Fifscha ey fIges @ T SR

d) Sreprerelt Tfier aTefduaRT Hed el

Tfft S

9) (a), (b), 3T (d) FI 3T ?) (b), (c), 3TN (d) T 3MTeT.
3) W (b) WA MR 8) T (a) WA M.
Mixture of chemically inactive gases is filled in the electric bulb, because of :
a) it prevents the oxidation of tungsten metal filament.

b) it enhances the melting point of tungsten metal filament.

c) inert gases are available in abundances and cheap.

d) it helps to enhance the intensity of light.

Answer options :

1) (a), (b), and (d) are true 2) (b), (c), and (d) are true

3) Only (b) is true 4) Only (a) is true

¢) faera 5ot - fAfifch, a8+ 9 fAaRur
AT qoATAT 9 derieRTed, WA 3ot WR geid fifsm 2.4 KW. 31Te. UiaR Uerexal! 0T T,

9) o R) 0.4 3) 0.4 ) 9
In a two wattmeter of power measurement, reading of both W1 and W2 is 2.5 KW. Calculate the
power factor.

O 2)<0.5 3)>0.5 41

Sclfdehel Sl Aed, HicheT YATedT [SHIMURET Faid o3ed fAgWRid Igehied] SR SR
SR @l 9 ... Wi ST

9) 3% ) 4% 3) W% 8) 90%

In electrical installation, the maximum voltage drop should be upto .......... , at the consumer
premises from the point of entry of the circuit to the farthest point.

1) 3% 2) 5% 3) 7% 4) 10%

NIfad Breratfid, wic ole 92000 kW T €000 kW Rid said 3RTd!. als Terexd! MU .

9) 0.¢30¢ Q) 0.€30¢ 3) 0.R30¢ ¥) 0.930¢

During a certain period, the load of the plant is varying from 12000 kW to 26000 kW. Calculate
the load factor.

1) 0.8308 2) 0.6308 3) 0.9308 4) 0.7308

TS 1 KW &fce AleR hieigiecTsd Alssel UepT feaard 4 e faga Fmior &% erbd. TR e
feeRTa 9,00,000 FFe g ot M FRwIRIE ... & AleR AISgel AATTeia.
9)20 MW ?) 2000 KW 3) 200 MW 8) 200 KW

Suppose solar photovoltaic module of power 1 kW can generate 5 units of electricity in a day. To
generate electricity of 1,00,000 units in a day, the power of solar modules needed is
1) 20 MW 2) 2000 kW 3) 200 MW 4) 200 KW
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S ST U9UTRITS! WTefletidh! IV Sglocs] iR aTaRell Sl 2

1) 3.3 I ?) 99 gl 3) 33 el 8) 93 HRl
Which of the following voltage levels is used for secondary power transmission ?
1)3.3kV 2)11kV 3)33kV 4) 132 kV

4940 rpm AT A Tl AT HGUARD G0 4 kW iR Pleal. SR STl Jarm 3 3400rpmax
STl dR UM Pleciell Ihl et sRieT?

9) 4 kW Q) 20 kW 3¢) Y kwW 8) 80 kW

A centrifugal pump draws 5 kW power when running at a speed of 1750 rpm. If now pump speed
1s changed to 3500 rpm, what will be the power drawn by the pump ?

1)5 kW 2) 20 kW 38) 25 kwW 4) 40 kW

SR UleR el AT HRIFADHI hefel FHIOR BRIRG Sl 3RIeT IR gwe ( interference) TTBTARNTG
IreaTte I 3R ... 3R,

9) -4 I ?) 90 - a3 3) 8o — go It 8) 900 - 930 JH

If a power cable and communication cable are to run parallel the minimum distance between

them to avoid interference should be ..........
1)2-5cm 2) 10 - 12cm 3) 40 - 60cm 4) 100 - 120 cm

AP HMH STegT Al ST ... 3R egl STRITT ST QTchl f+HT0T vl

q) 0° Q) 30° 3)900 T SIRET 8) 90° erm !
A synchronous machine produce the maximum power when the load angle is ........

1)O° 2) 30° 3) more than 90° 4) less than 90°

T T ABHAT Hel-AAls DR AN 800 W TN e HoT-clleaR Ak PIR A ... SNCH

9) 4o wW ?) 900 W 3) oo W g) 00 W
A transformer has full-load copper loss of 400 W. The copper loss at half full-load will be .............
1) 50 wW 2) 100 W 3) 400 W 4) 200W

OleR ¥R HHTd HETOf oo HWEE 3R, a1 YR ged (load facto) §0% oMOT &dl Tch
(capacity factor ) 84% 31g. TR Tolicd! IR & SNeT.

9) yoo MW ?) Yo MW 3) 200 MW ¥) 900 MW

A maximum demand on power station is 600 MW. The annual load factor is 60% and capacity

factor is 45%. Find the reserve capacity of the plant.
1) 500 MW 2) 250 MW 3) 200 MW 4) 100 MW

feoiear Afdhereliar EdeReT SdidRd DRl JUINT HHT IRhT HISTT.

1] 46

9) R I ) 1Rd™ 3) 9¢ deq ¥) W
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Calculate the maximum power, that can be transferred from the source in the given circuit.

Gl 42

1 ] A
e 120 Ry
watts " .
'B
1) 9 watts 2) 12 watts 3) 18 watts 4) 24 watts

930 HIcX x €0 HICR SMBRIE Fedlel Wadg! I WIS 9 TR FHIT FHM 9000 S,
feaTedT g YT dhefl STl off WesuglaR Sl TheHI- eplel UG BRUGRIIST Heriach fadRa
dell . TPUT IANIT BIUTIT HDIAAT 80% 8 Wed WUgwid Urgadl AT 9000 Im/mZ2 <t
TGIIT RGN Sl ST 31 3RT Jaid TR, Il ClaRaRlel faeaiel! SeedT Jiel. foearlt vepun
PRigmAar 30 Im/W 3R,

9) 900 ) Q00 3) 4o 8) 4o

A football pitch 120 m x 60 m is to be illuminated for night play by a similar bank of equal 1000
W lamps supported on twelve towers which are distributed around the ground to provide
approximately uniform illumination of the pitch. Assuming that 40% of total light emitted reaches
the playing pitch and that illumination of 1000 Im/mZ2 is necessary for television purpose.

Calculate number of lamps on each tower. Overall efficiency of lamp is 30 Im/W.
1) 100 2) 200 3) 150 4) 50

qrSdivaeh JIHM ATy DINARAT AT AR ...

q) ae Q) BT 3) R & 8) aRIeTieT ATEr
Compressor power consumption will by raising evaporator temperature .............
1) Increase 2) Decrease 3) Remains constant  4) None of the above

UCIO g Yargred] fedRTg A O UhIRId JSHRTGR IHfdeicd] SiFTedl hRIZ-<l O HHud
3RT. R o L ot FEf 31TR.

q) ofrgcar dIET R Q) Wikl

3) ST U R 8) Fepsern T

The illumination is directly proportional to cosine of the angle made by the normal to illuminated
surface with the direction of the incident flux. The above statement is associated with .............

1) Lambert’s cosine law 2) Planck’s law

3) Bunsen’s law of illumination 4) Macbeth’s law of illumination
AR ............ TS ARG SR G Aigael ST

9) g frard R) AT s

3) UlaR TABIR Q) A dTs~T

Maximum number of faults are generally reported for .............

1) Switch gears 2) Underground cables

3) Power transformers 4) Transmission lines
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RGTAIAUDT DI TR SRTEIHED IR ST ATel ?
9) STocAT AT IR PR e 3T el Q) MeR Tt YpTIRISTT

3) Pl I TBIA ¥) uRafeet= argfem

Which of the following is not the type of lighting used in tunnels ?

1) Lamps and lanterns using burning oil 2) Gobar gas lighting

3) Coal gas lighting 4) Acetylene lighting

Mho ¥RaT 3R Rel FURIGY ........... T TREVATS] TIRAT ST,

q) FHH ST geafteE e R) U PHI AR grAfe ased
3) g AT AN e Q) oY eI AR e
Mho type distance relay is normally used for the protection of .............

1) Short length transmission lines 2) Very short length transmission lines
3) Medium length transmission lines 4) Long length transmission lines
T TRT SRATHT ARV BIUTRT ST ... SR fasfaelt STes erep.

9) I gEeR UfRefa9R Q) uoft fIgraum 3) AreT 3Rye TRCAIR 8) B TRCAIR
The fire taking place in the environment when live wires exists can be extinguished by .............
1) Dry powder extinguisher 2) Water extinguisher

3) Soda acid extinguisher 4) Foam extinguisher

ISR RN ded @ieflettd! dIo ged HVDC SuieRur 3o AC-to-DC YIRS
IR ST ?

q) TR S R) IRAID fheex

3) Pacy ¥) I3 AT~

Which of the following components of an HVDC transmission line is used for AC-to-DC
conversion and DC-to-AC conversion ?

1) Smooth reactor 2) Barmonic filter

3) Converter 4) DC lines

HVDC @rEam gemd HVAC dSaed Wietietid! BIort e ghir e ?
9) g 9 SRR AISAT THIUN UleR SFAMFRITS! ardRel STt

R) TTAT IR PH! =AML JhAM Bl
3) & TEUU @lecsT UIdedl aTe.

Q) ITAT IR HH glecs] ISSTRIT THAY gal.

Which of the following statements is INCORRECT about an HVDC line compared to an HVAC
line ?

1) It is used for bulk power transmission over long distances

2) Its use incurs low transmission losses.

3) It easily increases the voltage level.

4) Its use involves less voltage fluctuations.
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...... 2 UTeR ST & R RRATEET Us a9 cglocst Mithises JURUIRITS! e Qfthallel] SUeRUT 3Tg.

9) 9ic HURIER Q) 9c geacH

3) R IR ) Hrfeter HURIER

.......... is a powerful device to improve the power transfer capability as well as voltage profile of
the receiving end bus.

1) Shunt capacitors 2) Shunt inductors

3) Synchronous compensators 4) Series capacitors

dISTaTee ORI S gdbla (maximum sag) ASHide Alfedtt &l ... fegd eRogRadt urgrear
D T3

9) DTl USS TR ) Fededl FHIA TH

3) PeFeRR SR ST 1o Q) qRIeTdhT Prarar e

The knowledge of maximum sag is primarily essential in determining the ......

1) Ground clearance of the conductor 2) Maximum span of the conductor
3) Maximum stress on the conductor 4) None of the above

e faord e STl I @lecst g AR AREM ... IGR TH el S

9) IS A R) TREMT 3RFR 3) Qe () emftr () ) AT =yga

The protection against direct lightning strokes and high voltage steep waves is provided by .......
1) ground wires 2) lightning arrester—3) both (1) and (2) 4) earthing neutral
......... b ST FTEdIa 39 FicRIge e Jardl aiaR el STl

q) 39 glecst A.C. R) T @eest A.C. 37IfT 7eH @leest A.C.

3) S 8) Q= () 3 (3)

High resistance interruption principle is used in case of .............. circuit breaker.

1) High voltage A.C. 2) Low voltage A.C. and medium voltage A.C.
3)D.C. 4) Both (2) and (3)

......... fRIAT PRIRT SRIAHT 3Tecex I PRRA (over excited ) eI Fgeal ST

9) JFCH R therex Q) ofifeT laR thae

3) offthr UfeR thaex ¥) ohfeT UleR tharexHed ARl Usd

An alternator is said to be over excited when it is operating at........

1) Unity power factor 2) Leading power factor

3) Lagging power factor 4) Lagging to leading power factor

Jed—F¢qR ... Heclcgrsicy ARTe 3R,

9) IR Q) et 3) AR ¥) TRIIDI PrErRr ATt
A pulse-stretcheris same as .......... multivibrator.

1) Astable 2) Bistable 3) Monostable 4) None of the above
U XOR 7 T TG ............ SRICTT deghd JMMITYE 4 TIR Al

) 5= Q) = 3) P ) M

An XOR gate produces output “1”” only when two inputs are .............

1) High 2) Low 3) Different 4) Equal
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foheee aiffeler @ S detedl LC SiRAeieRua 418 3ied BRI J&I: ...

9) I SoIdl IRIRGAT FRRAT ) fhvcemr MR

3) T = A g) [d (9), () 3Mmr (3) &1 IR
Crystal oscillators are superior to tuned LC oscillators mainly because .............

1) High degree of frequency stability 2) Size of crystal

3) High value of Q 4)All (1), (2) and (3) are valid

M IR STede fthoex B sollp PRUIRITS! Udh e JifTeqha 3R

q) Ryrer gMifes varg Q) S gHiFD Ohepedl

3) T IIHT HATE ¥) IUDI Prargr ATt

A low pass broadband filter is an ideal application to block .............

1) single harmonic current 2) widespread harmonic frequencies
3) zero sequence current 4) none of the above

afraTqut &fforeh o Al AHRT BR .......... 3.

9) IS delell SFAMIN g faa vl Q) FuRIR I f&aa xOr

3) 9ic 3U[HE! SSeul Q) oATSeHT

The most common cause of impulsive transientis .............

1) Switching a unloaded transmission line 2) Switching a capacitor bank
3) Switching a shunt reactor 4) Lightning

Tl PIvrT Ffche Sl YeRe~T AT qruRel S ?

9) TIR-SART Wfdhc s ?) P It |fdhe sax

3) @R Wbe 39 ¥) SF e §a=

Resistance switching is employed in which of the following circuit breaker ?

1) Air-blast circuit breaker 2) Minimum oil circuit breaker
3) Vacuum circuit breaker 4) SF circuit breaker

thisvedT G Auflag AREUIATS! o el wafd I/ g ?

9) arg Ffead o™ 9 (IDMT) Ret Q) EI-wiE g-JT 3Megane Rel
3) o Ret 8) aRIcTh! Pratel el

Which type of relay is most suitable for current graded protection of feeder ?

1) Inverse Definite Minimum Time (IDMT) relay

2) High-speed high-set overcurrent relays

3) Distance relays

4) None of the above

TR SR ATRSAT SIVRT Salfaed feemesiean AeHid Wheflel fau™ R &

a) T JRera anfor ke armea. b) d AT fAete™ fo5g UrevamRdt et < ATl
¢) d STeRIYD TR d) TR wgSTeal et Ser Hfshr Fices 312,
RIS PO g™ ghra 3R ?

q) Heh (a) 3T (b) Q) Wb (b) MR (c)

3) B (a), (b) 3O (c) 8) Hh (a), (c) 3T (d)
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Consider the following statements with respect to electric detonators used in blasting operations:
a) They are safe and certain.

b) They do not permit successive firing of holes with required delay.

c¢) They are not waterproof.

d) The process of ignition is smoother as compared to blasting fuse.

Which of the above statements islare incorrect ?

1) Only (a) and (b) 2) Only (b) and (c)

3) Only (a), (b) and (c) 4) Only (a), (c) and (d)

Stegl geae e, fds calsivig gsaeM SFRER FeU[ M &_d degl ardl Rad ... IR
9) HPRIHD Q) TI 3) TPRICHD 8) 3

When an induction machine, working in association with wind turbine as induction generator, its
slipis .............

1) Positive 2) Zero 3) Negative 4) Infinity
UICRRIHICR TISRR UG PR

9) glecordl g Q) AUHE T @lecs

3) 99 d UfRIYD ) foemae T feRrer

Potentiometer as a transducer converts :

1) pressure to voltage 2) temperature to voltage

3) temperature to resistance 4) displacement to resistance

IR 33 IRTeIeAT TN rAhFRe IREc UIRR 37Te:
9) 0T UIARTIET T R) TV IR A

3) IS0 YHTUTUE SR %) FeUT TUIFARTIET HHT fdham ST

The transformation ratio of current transformers with inductive burdenis :

1) lesser than the turns ratio 2) equal to the turns ratio

3) greater than the turns ratio 4) either lesser or greater than the turn ratio

HH TR IR Ufcifehanefiar Soif WRUTS 0TSt Wiefieldch! PIviaT araRelT STl ?

q) 9 ITUHE! Q) HifeTepT FUwe! 3) 9ic HURTER ) HIfeThT HURICY
Which of the following is used to provide reactive power compensation during low load ?
1) Shunt reactor 2) Series reactor 3) Shunt capacitor 4) Series capacitor

hTTE, TR SRgYTeT STTU GRRIRATS! HulTettd HRT fSwpriare ehRUT 326l 3R, © TGN Ul el
ST

9) IR Q) Afdhe sax 3) CIRAT TS ¥) IR

In sub-stations, it is often desired to disconnect a part of the system for general maintenance and
repairs. This is accomplished by :

1) abusbar 2) a circuit breaker 3) an HRC fuse 4) an isolator
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fafre gmifiep hep=ARATSt P —Hfcraer ARt IR PRUAATS! Wietlefdeh! DIV ST deiedT TRt
3TIOr ERI-urT ftheek Afheet Hiforer fha FHIR riae FHIE 318 ?

9) AfhT the TS fthee? Q) T ftheey

3) U Pregex 8) YT Pbelall gHID fohoes

Which of the following involves the series or parallel connection of a tuned LC and high-pass
filter circuit to form a low-impedance path for a specific harmonic frequency ?

1) Active front end filter 2) Notch filter

3) Pulse converter 4) Tuned harmonic filter

T3R IRC Ifhe SPRATS! Wletiefdeh! Do e ATgl ?

9) SR I AT Q) J° @A

3) T i el ¥) IRAR MRS RRaT
Which of the following is NOT true for the air blast circuit breaker?

1) High speed of operation 2) High maintenance

3) Less fire hazards 4) Stability for frequent operation

JMGHCSI3R  JIRCIFIIS! Wietleldh! PIvd F AT ?

9) FierR™ AR HHT gHTOr ) FH URfYE T

3) SEYTS W PHT 3R %) SURUATS ANTOTRT dos B4l 312
Which of the following is NOT true for outdoor substations ?

1) Less quantity of building materials 2) Low initial cost

3) Maintenance cost is less 4) Time required for erection is less

PIUT FHRAT FRIICHE IR FqouTd GRTGR HifoThd Sigeled] 3 UiRkield % SrIdTd ?
9) O TRY =Ieie? R) AT TISU S geicy
3) & SRR ¥) T TIOIR

Which type of insulator consists of a number of porcelain discs connected in series by mental
links in the form of a string ?

1) Pin type insulator 2) Suspension type insulator
3) Strain insulator 4) Stray insulator

o ISR FE.......... M HRCIFA SSelel 3R,

q) Q9 U Q) et 3T TS

3) ol 37T =g ¥) qReTdehT ATt

Surge arrestor is normally connected between ............ at the substation.

1) Two phases 2) Phase and ground

3) Phase and neutral 4) None of the above
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v) fA=[a SR - HicH, TFABER

Y198 IRR AL Slle dhede’ell URT YepurRd, SMURT T4 ... URITT HREIUT PR
DESIESRIRSTIS] Q) fafm feearst

3) et el 8) aRIcTUh! AT

The ground wire shields the transmission line conductor from induced charges, from clouds as
well as from .......

1) Lightning discharge 2) Switching discharge
3) Both of the above 4) None of the above
TG PITHEY IolFaRCicd U ... 3.

9) heFRR TAT RIMR I

R) DI YSHATER oA 3T SfreRumer fohar

3) DHeSIIT YSHNER BHIA I0T ARV fhHT

) edey YSHN IMMMUT MR I A

In underground cables the electrostatic stress is ..........

1) Zero at the conductor as well as on the sheath

2) Minimum at the conductor surface and minimum at the sheath
3) Maximum at the conductor surface and minimum at the sheath
4) Same at the conductor surface and sheath

WTofleTddhl PV IR W 3T ?

) TatE Tl e & ReRe U M W

b) SelTIMIRCH Fell Hiex § Felxl 31T distarged et FaTg Ao AW 3TTed.

C) SolFgHHCd Tell HICRHEY UaTgl Sl 3N G/d BHI 8lss el

d) SelagHifes wal HieHdle ascyc garedl dfreameleT sqerves THIfad gid.

qift S :

9) a M1 b T 3 ) ¢ 3for d T<T 3R

3) 99 R DEAGECAEIN]

Which of the following sentence are true ?

a) The turbine flow meters are volumetric flow meters.

b) The electromagnetic flow meters are suitable for flow measurement of slurries and electrically
conducting liquids.

¢) Inelectromagnetic flow meters there is obstruction to flow that may cause pressure drops.

d) The output in electromagnetic flow meter is affected by changes in characteristics of liquid.
Answer options :

1) aand b are true 2) c and d are true

3) All are true 4) None of the above
BHERAT I & oo, TYT TR GSURIT IRl e Ul g AR

9) rsdiras Q) catsd 3) PIORR ) icel
The purpose of condenser is to condense the gas coming out from exit of .......

1) Evaporator 2) Turbine 3) Compressor 4) Throttle
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ToITORCICdh SUPRUEEE Wletlelidh! DU U™ aRIsR 3R ?

9) J Peh T} @lecoTd YHIOT AT Q) fI8fdg i oS e THIUNT 31
3) AT AR o Y 3. 8) &l THEHM 378

Which of the following statements is correct about electrostatic instruments ?
1) They measure only the AC quantity of voltage.

2) Deflecting torque is directly proportional to voltage

3) The power consumption is quite low.

4) The scale 1s uniform

Tol IR IgT I I Sligciol 319,

q) Q9 U R) Tl 3T IS 3) el ST =g 8) Al ATE
Surge arrestor is normally connected between at the substation.
1) Two phases 2) Phase and ground  3) Phase and neutral ~ 4) None of the above

SR DC HIeR IFIRRAEA” o el R DC AT PIVAT 9T TR 8l A ATzl ?

9) F9 ?) PRICR 3) I g) faféwt
If a DC motor is started without starter, which part of the DC motor CANNOT get damaged ?
1) Brushes 2) Commutator 3) Yoke 4) Windings

AU T PIUT TR S HIc) aTiReA i 2

q) SR ATferaT AR 2) SRfl PUSE AR

3) SRt 9l Hiex ¥) St femfeRieT Hurss Hiex
Which type of dc motor is used in lathe machine ?

1) dc series motor 2) dc compound motor

3) dc shunt motor 4) dc differential compound motor
ST STRCHE FRICER ... TEU B oheall.

9) Hh{The TR ?) RIp™T ek

3) Hafiad FCHRR g) T AT

In a DC generator, commutator serve as a..............

1) Mechanical inverter 2) Synchronous condenser

3) Mechanical rectifier 4) None of these

SRt AR SiegT Racanlt U el S degl @ S R TaTg Al BRI ...

q) FRawien Arfil EMF T 318

R) IRATheT s EMF ST 31g

3) Al EMF Ra0T glecstell foR1Y aRa 31Tg

) R PRAMI TR Tl S IR

A dc motor when connected directly to the supply would draw a very heavy current because..............
1) the back EMF at starting is zero

2) the back EMF at starting is maximum

3) the back EMF is opposing the supply voltage

4) torque required at starting is high
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CIIRIHRTT ges0T HfeRIY ATaviiATeT Wiefictidh! PIvrcd! Uge aToRe! STt ?

9) TFABIR UGl SRelfacs Tl R) I IePH TfTETT Ugd

3) Pfea fooT uga ¥) TIHIER Jgaid! daex e aravft
Which of the following methods is used for the winding resistance test of a transformer ?
1) Dielectric test of transformer method 2) Zero sequence impedance method

3) Kelvin bridge method 4) Vector group test of transformer method

Siegl TRIhIFRAUT TledT JhAM DR THIFNRE 3RTd degl @latiefden! PIurd 3 sRIeR
3RIA ?

9) fepuT g Q) PHIl BRI

3) feaawR prieman 8) PHT IoT BRIEHT

Which of the following optinos is correct when copper losses are equal to core losses in a
transformer ?

1) Minimum efficiency 2) Maximum efficiency

3) All-day efficiency 4) Maximum power efficiency

Wlefteldeh! PIvraT 9T R AlcdHwed aruReT SId ATl ?

9) AC RITIIE hlce A R) AC RAIRIE 3HR TSl

3) Seh—veIreTE SR TR ¢) R geta &gl del

Which of the following parts is NOT used in synchronous motors ?

1) Field winding with AC supply 2) Armature winding with AC supply
3) Damping winding for self-starting 4) Pole for the electric magnetic field

RipT Hievd ARET JUE Wielietidl Prorr gafg gadhtar g ?

9) & el § qof el T R T e

R) FGpI Hicel el ellger 3rdcie

3) g WYY &d: df godrd gl

8) g Tchredl faga Siuft Sfhid aretdet ST — Givel AN G0l ST SAFUY

Which of the following options in INCORRECT as a feature of synchronous motor ?
1) It maintains a constant speed from no-load to full load

2) The speed of a synchronous motor is dependent on load

3) It is not inherently self-starting

4) It is operated under a wide range of factors-both lagging and leading

SRt d Sepeack a1 ATRD BRI ...

q) Tieh FCU-SIS Sl AL @lecst

R) Tieh ¥U-3(U SLAT. e

3) RU-3MY fhaT WeU-3rs .. @leesT

8) $TYC 9.%. @lecsl 3MSCYC 9.8 T T 3R, fegaae
DC to de converter or chopper can ...........

1) only step-down d.c. voltage

2) only step-up d.c. voltage

3) step-up or step-down d.c. voltage

4) input d.c. voltage is equal to output d.c. voltage
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RABIRT fST KVA T8 3RAd omfor kW Hed A6l BROT ...

q) kW #Hefiet T0FT kVA Uerm Hidt amg

R) IR IR 3T R TRT FJshH R ST cglocsiar et AT
3) |d JHAM UleR YRR 3fdeigd 3

8) G PTER AT

The rating of transformers 1s in KVA and not in kW because,

1) Calculations in kVA are easier than in kW

2) Cu loss and Iron loss depends on current and voltage respectively
3) Alllosses are dependent on power factor

4) None of the above

TIhIERERI d¢ Afhe Iraull I, ARG GBI T0F i BRI ...

9) S INPele R[ATaTg 0T SRT
Q) Y ISR cglocS] daeld gl

3) WIS SIS AR] Sglecs] HHT 3R
%) TrARIRAT JUT Ale dxe YRael I ATal

During short circuit test on transformer, iron losses are negligible because .........
1) the current on the secondary side is negligible

2) the voltage on the secondary side does not vary

3) the voltage applied on primary side is low

4) full load current is not supplied to the transformer

el TRARIERTL ... ot afene e

q) HH TR, GBI Tescl g, URIBR Tel, T et

Q) PHI YRIRIAT, Yaehig Teeci!, UfTPR Tal, T el

3) I YRR, Yahig ceei! ATgl, UfciepR ATgl, Jebsar el

) I¥ URITRIT, JehII Tescil HTal, JDARIE f&iuiig il

Ideal transformer have the features of .............

1) Low permeability, no magnetic leakage, no resistance, no losses

2) Low permetability, magnetic leakage, no resistance, no losses

3) Hlgh permeability, no magnetic leakage, no resistance, no losses

4) High permeability, no magnetic leakage, considerable resistance with lossess

SR eyl UBH egkd $YC R 3det TRg IToHT dgafell, T .o
q) 3TScycdT ufifsharelial gedh acater 3Te Q) ITTSTYCAT AlhT TcHh Iatell 37T
3) ofiedn UfeR U R Xrgdl ) crgl, |fsha 3T ufdfshaneficl Ikhl Ted aeerer

If the input to the prime mover of an alternator is kept constant but excitation is changed, then

1) reactive component of the output is changed

2) active component of the output is changed

3) power factor of the load remains constant

4) both, active and reactive power components changed
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ST Al T Wfdheal FeH ST Wielialud! HIvR UM aRER 37Ted ?
i) Gy SIHfchaT YRAaT PReaR Iacigy 3R,

i) Jacbir SIfshaT ARy SICRTeAT HaTgleR faeigd 3R

iii) 9% JHAM FTYC cglecs] MU IRARAT TR AT IR,

iv) ez FRTPR AR SaeieT L.

T SR :
9) i T iii SRR MR Q) i, iii, iv SRISR 3T
3) i, i, iii, iv SRS 3Med ) 1, ii, iv SRIeR 3fed

Referring to equivalent circuit of an induction motor which of the following statements are
correct?

1) Magnetizing reactance is dependent on supply current.

11) Magnetizing reactance is dependent on air gap flux.

1i1) Core loss is dependent on the input voltage and frequency.

1v) Rotor resistance is dependent on the speed.

Answer Options :

1) i1 and 1i1 are correct 2) 1, 1ii, 1v are correct

3) 1, i1, 1i1, 1v are correct 4) 1, 11, 1v are correct

wfed A3 SIHCYC XeviHY diURefell Ucd ............ 3T|%

q) SRIAA FAHRR Q) JerTehe 3) PURTR 8) AR
The component used in the output stage of static relay is.............

1) Operational amplifier 2) Comparator 3) Capacitor 4) Thyristor
eIl IR TSR §eve hiccHdt WU fieiel FR&0T 37Te

q) e |y fAvcH HRemr

2) e e e e

3) AP HRE

) eyl fRaie aiEfen fSeeTar aTR Fo aeed fShefIRIe HRemT

The preferred protection for interturn faults on armature winding of alternator is
1) Longitudinal simple differential protection

2) Longitudinal percentage differential protection

3) Over-current protection

4) Transverse differential protection using split winding design of alternator

KCL 3ot KVL ........... TSt TR 3T,

9) %k DC Afdhca Q) PvriEl A et SIfeerar R = ot
3) 918 DC Afdhe ¥) Beh AC afdc

KCL and KVL are applicable for .............

1) DC circuits only 2) Any circuits irrespective of its complexity
3) Simple DC circuits only 4) AC circuits only
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a, c AP ....oocovee g T GRIETeTd IRER 37g

9) 9T ) 3R 3) 3rf=sr ¥) RIeHdr
............... of an a, c circuit is the reciprocal of its impedance.

1) Admittance 2) Conductance 3) Reluctance 4) Permeance

RFTeT—thoT Seare HIedT W TgUH Welicddh! PIvr uafa gahrar g ?

9) fFerg R Q) PRI 3) MR goour ¥) SR
Which of the following options is INCORRECT as a part of single-phase induction motor ?
1) Slip rings 2) Capacitor 3) Armature winding  4) Bearing

RFTT-%heT SeaeM Hicd Q00 TUT 3MFC—3Nh-thal NegR TIdoied] FgR-IDp TR aTsieiary

............. R TR,

9) FE-IRY R) URH 3) PHI b 3R 8) P HaTE 3MMe
Single-phase induction motors donot ............. without an auxiliary startor winding driven by an
out-of-phase current of near 90°.

1) self-start 2) start 3) have low torque 4) have low current

GTciIeieh! PIVAT FhRY Afhe SR HaT FgUT g chel MR 2

9) IMMITSIIR fehe TP Q) fBm-3Res Afdhe sax

3) gRE Afdhe SR ¥) JE—cglocsT Afhe SN

Which of the following types of circuit breaker is categorised as a service ?

1) Outdoor circuit breaker 2) Spring-operated circuit breaker
3) Pneumatic circuit breaker 4) High-voltage circuit breaker

3iiget |Afhe sep=AiieT DIV a1 GiorT Sthare FHTOT vl ?

q) oA R) TGS 3) CO, 8) TGS
Which gas in an oil circuit breaker produce the cooling effect ?
1) Methane 2) Hydrogen 3)CO, 4) Nitrogen

UleR I WletleTdeh! Pl HgRIdh IUBRY SAYC UlaR e fong aRd amRel ST 2

q) TIT DR R) ey 3) FTRR 8) UPS

Which of the following auxiliary equipment of a power station is used as immediate against the
input power interruptions ?

1) Charge controller  2) Converter 3) Inverter 4) UPS

RgTefleTdehl P JURUT R THT cglecomed gRUSel TRl 3TSCYC calocs] THM aRARAT U
3R ?

) gregc} Q) gferpreex
3) AC @ecs dgeR ) Cuc;pcpmverter

Which of the following devices convents fixed AC voltage intto variable AC output voltage as the
same frequency ?

1) Inverter 2) Chopper

3) AC voltage controller 4) Cuc;pcpmverter
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SolaaRCled SUPRUNEES It DI fIer aRIsR 31g ?
9) T Beh THT @lecord TETOT HISidTd.

Q) faafid efd @t & YHIUNT 3T

3) 9T aTR GUE BHT 3.

¥) Fhdl UHAH 318

Which of the following statements is correct about electrostatic instruments ?
1) They measure only the AC quantity of voltage.

2) Deflecting torque is directly proportional to voltage

3) The power consumption is quite low.

4) The scale 1s uniform

amgel TFABIHRET ..., g afireY e

9) PHT YR, Yohig Teoeit ATal, iR ATl JehAM gl

R) PHI URTRICT, Yoehig Teoc!, UiciehR AATgl, Teh<AT el

3) I YRR, Yahig eocit ATgEl, UfciebR ATal, Jep<ar Arar

) IU URITRI], GehII Tescil AATgl, JHhARIE Aervfiy HfciepiR

Ideal transformer have the features of .............

1) Low permeability, no magnetic leakage, no resistance, no losses

2) Low permetability, magnetic leakage, no resistance, no losses

3) Hlgh permeability, no magnetic leakage, no resistance, no losses

4) High permeability, no magnetic leakage, considerable resistance with lossess

T el SRABIERT ThIE PHAFIN ... A1 AR ST

9) off a1 o RywTer Bt R) off %ot O g

3) F %S d I %S 8) RFTer ot o &t thet

Scott connection of three phase transformer is used for .............

1) Three phase to single phase 2) Three phase to two phase
3) Three phase to three phase 4) Single phase to three phase

AIcR ITe, hedTer fRIavarg godariian €a HieT &l 3Rdl 2

q) BRI ATGR RS @Y Aige SR R) PR ATHH HR GU ST IRA!

3) PRU ICIITdT TR Ga SR SRl 8) PR FodTieT ATERT g .
Why is the current initially very large when a motor is turned on ?

1) Because the back emf is very strong

2) Because the mechanical load is very heavy

3) Because the resistance of the coils is very high

4) Because there is initially no back emf

15y AICIR JARIRD R ThedRT PRI 88 ?
q) HERT fagaTEe  ared
?) HIeR FHFITO Ales, XTEd

3) AR [AEqTHBAT BHRGI0 HlbleRIh I8 E[d YaTg 8l Mepdl
¥) HICR P PROT iFa.
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What can happen if a heavy load is given on a running motor ?
1) The back emf increases

2) The motor continues to operate normally

3) The lack of back emf can lead to dangerously high current
4) The motor stops working

TUHE FHTId: DI Ay aiaRelt ST ?

9) g HICX ) SR AR 3) R Hiex Q) T Fd

Which motor is generally used in pumps ?

1) Induction motor 2) DC motor 3) Stepper motor 4) All of the above

3 Thel SSFIM AICHEY, SR Y I Pl I, IR S8 HIed! Ak aRaRd ... IR
9) I R) TN [RA3T IRARUET ST

3) AT YRAST ARARIUE PHHT 8) TR YRIST IRARTAT SR

In an 3 phase induction motor, if the rotor is locked, then the rotor frequency of induction motor

1) zero 2) more than supply frequency of stator
3) less than supply frequency of stator 4) equal to supply frequency of stator

SIcgT AieRidies Jfd YR dredl, degl JTaR faee e &R 8. 2

9) I TG R, R) o ared

3) O P4 B ) T HIcIaR Platel uRomy g rer
What happens to the back emf, when the mechanical load on the motor increases ?

1) It remains the same 2) Tt increases

3) It decreases 4) It has no effect on the motor

SRt ARSI AeR AI-dAleaR 1A, T, PR ...

q) d YIPISRIDBUY HIS TeTg R) Jiel ¥l dlect

3) d UIPICR—ID I UTdel ¥) T = aoEE i e

A dc series motor should not be run at no-load, because .............

1) it will draw a dangerously large current 2) twill stall

3) it will run at a dangerously high speed 4) it will generate high temperature
Alead! fagaeerd it Hr R ?

q) e g e i @ ?) Tersie fegvare qridur

3) e & FEf ol %) i S R

What is the role of a battery for a motor ?

1) To generate a current by rotating a loop 2) To supply current to the loop
3) To generate a magnetic field 4) To supply mechanical energy

AlevHed ATgR! [RaHeT 78 PRI 37 ?
q) IS AICIAT A dred] R) I Al fagavare wH gk
3) T SWIH T wRf i e 8) e Hiewdr died uRee et gl
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Why is back emf important in a motor ?
1) It increases the speed of the motor 2) It reduces the current in the motor
3) It generates useful mechanical work 4) It reduces the torque of the motor

GTefieTidh! PIuraT W1 RIspIT HIcHHE aToRel Sid ATal ?

9) AC JRISIIE hics arsfeT R) AC RISIRIE 3R aTsfer

3) Ach-TeIfeTRATS ST arsfS g) eI gedhia RISt Ui

Which of the following parts is NOT used in synchronous motors ?

1) Field winding with AC supply 2) Armature winding with AC supply
3) Damping winding for self-starting 4) Pole for the electric magnetic field
AexAed ATER fgame 7gw@ o1 3 ?

q) IS AICIAT 9 dred] R) IMw Al faegdvarg HH gl
3) B SWIH Tie HRf fAmi axd g) ATges Aiexdr died uRee et gl
Why is back emf important in a motor ?

1) It increases the speed of the motor 2) It reduces the current in the motor
3) It generates useful mechanical work 4) It reduces the torque of the motor

Siegl ARl A AR dredl, degl 9ed fag[dmHer & gk ?

q) O T TR, ?) O ared

3) T o B ) AT HIcIaR Platal URUMT aid el
What happens to the back emf, when the mechanical load on the motor increases ?

1) It remains the same 2) Tt increases

3) It decreases 4) It has no effect on the motor

I, AR ARG TR SThedd B B 2

q) 9T RIS ared

Q) HieR FHFITO ATes, XTEd

3) AERY RS SR UIbIeRID 39 fagld HaTg &% ahdl
g) HICR & RO ATee.

What can happen if a heavy load is given on a running motor ?

1) The back emf increases

2) The motor continues to operate normally

3) The lack of back emf can lead to dangerously high current

4) The motor stops working

¢) &
SR JeUITET Eehi 3787 ST S YaTedT thics Jeuiral gahid 378 JreaTdicl di St 7efi= armg -
1) o° R) 30° 3) &0° 8) {0°
The angle between magnetic axis of armature winding and the magnetic axis of field winding of

two pole d.c. machine is -
1)0° 2) 30° 3) 60° 4) 90°
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SATGSIAIHD IUBRVTIER, T & UG IRUITAIS! FARIT Faehiiasit fahelt iget aToReT ST ?
9) 9 )R 3) 3 g) ¢
In an electrodynamic instrument, how many coils are used instead of permanent magnets to provide

the magnetic field ?
D1 2)2 3)3 4) 4

Ao Rfifn GeT T PR oM 2

q) T (PIR) ?) it 3) St (f3rep) 8) eiisee (Fe,0,)
Which one of the following is a natural magnet?
1) Copper 2) Silicon 3) Zinc 4) Lodestone (Fe30,4)

Bl W FSHTET oledl TABHFHE, TMHT FT-gaehIg Y 3R Ahdl, 1M T=AHIHAT fesel
NI

9) A YBRA TFABIIR ) DR UHRY IR

3) IS PRS TABIR 8) TR Ple grAhIHR

In some specially designed transformers, the core may be of non-magnetic materials, Such
transformers are known as :

1) shell type transformers 2) core type transformers
3) biased cored transformers 4) air cored transformers
HHRI: ... USRI IR feedd FgU el S,

9) Jab 3) H-qah

3) Q=g (9) T () 8) a¥ieTdhT el
Normally ......... material is used as armouring.

1) Magnetic 2) Non-magnetic

3) Both (1) and (2) 4) None of the above

WIeTeTdehl PHeATAT ‘TN JMHYUT 3R FgUIT ?

9) ETIET HURT AR PR R) PURIIRICT YabIT & THTd

3) Rl fedm U™ oy Q) qRIeTId! Praral el

Which is called as ‘Local Attraction’ from the following ?

1) Sharing compass with friend 2) Effect of magnetic field on compass
3) Running fast towards station 4) None of the above

Q) faerasedhig uRums

bR Al ST PIgA AHRI: ... e gIReA! SIdT.

q) TBR-§ dfhe s Q) T |fdhe saR

3) izt |fhe s ) SF | s
Magnetic blow out coils are generally used in .............

1) Air-break circuit breakers 2) Vacuum circuit breakers
3) Oil circuit breakers 4) SF circuit breakers
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HIRTDIT FAQUTAT Faehld Ugaildl TR ool YoTeTred] et Wietletdeh! pivrd ARIARAT Faferd

3e ?

q) TS oiel QAT SU-ISHAT o1 FAfEa aRvl. caeifael fopesia e o,

R) oI @RI gy MR ROl ISRl Aoy T i@

3) T TR g9 R afteexaut siftFeter afverrar ST

¥) SU-YSHNT STsa¥l e avul. JRGSrAT TaT oiRAT.

Which of the following is correctly related to groundwater exploration using Magnetic methods

of Geophysical survey ?

1) Determining sub-surface structures of large groundwater basins. Tracing tectonically disturbed
zones.

2) Determining iron content in groundwater basins. Identifying porous rocks in subsurface

3) Identifying magnetic anomaly due to contaminated groundwater Mapping soil moisture

4) Determining sub-surface dykes. Tracing limestone caves.

RFTI-%heT SeaeM Hied R00 TUT 3MFC—3Nh-thal FNegR TeIdoied] FgRID TR aTsfei Ry

............. EacIEINGE

9) T-URY ) URY 3) wH} efh 3 Q) HH AT 3
Single-phase induction motors do not ............. without an auxiliary startor winding driven by an
out-of-phase current of near 90°.

1) self-start 2) start 3) have low torque 4) have low current

gTefieTdehl PIUTT HIUGS, Yo ARG SeldaHiicd HIRAL TR BIVITRIT JATEred] SR JHIUN 3178 2
9) FoBUTT ARAT ) oM 3) TR &Ehed ) ffresT

Which of the following parameters is inversely proportional to the flux produced in a soiled
electromagnetic core ?

1) Number of turns 2) Current 3) Area of the core 4) Reluctance

DT TATERAIG! QI febdT QU STR<T AR SRTcied] G AfbeaT ... UL,

q) ¢ gehg Wfde R) 3HcTE YahIg Wfehe

3) iR Geh e g) TP Geh wfbe

A magnetic circuit with two or more than two paths for the magnetic flux is called .........
1) direct magnetic circuit 2) indirect magnetic circuit

3) parallel magnetic circuit 4) series magnetic circuit

iR FCIMTEd gediedT e aiuRed WieiicTddh! BIo I dhel STd ATal ?

q) 3McERee ARCT ARCHHYT 3ilcgReglocs] fSedTst PRul

Q) dex ffr yem wwor

3) IfffT e IR e thol 3ATOT UTSS SR dTo] fovdTs] UIRITST AT SJaveol ol

¥) TfafhaTcae SRhITS AT UeM e Rlecst UTded! fHafard aeor

Which of the following is NOT done by using earth mats in a power station ?

1) Discharging the overvoltage from overhead lightning masts

2) Providing neutral earthing

3) Arranging a path to discharge the charge between phase and ground by using earthing switches
4) Controlling the voltage level by providing a path for reactive power
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PRI Al ST Piged AFFI: ... A qIRE! ST,

q) TBR-§ WAfhe TR Q) M |fdhe saR

3) 3Tz wfdhe s %) SF wfdc sas
Magnetic blow out coils are generally used in .............

1) Air-break circuit breakers 2) Vacuum circuit breakers
3) Oil circuit breakers 4) SF circuit breakers

bR HATERNATC! QM fohal SFUe ST AT 3RAciedl e AfheeT ... U,

9) 9 geH Wi 3) omeTE geH Wi

3) RGeS e ¥) T GeT Wi

A magnetic circuit with two or more than two paths for the magnetic flux is called .........
1) direct magnetic circuit 2) indirect magnetic circuit

3) parallel magnetic circuit 4) series magnetic circuit

RFTeT—thoT Seare HIeRdT W TgUH Wellcddh! PIvrT uafa gahrar Mg 2

q) e R R) PufdeR

3) 3R Foeur ) S3IRT

Which of the following options is INCORRECT as a part of single-phase induction motor ?
1) Slip rings 2) Capacitor

3) Armature winding 4) Bearing
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